EARAROBEEIERT — 2 N— IBISH —F 20175128138 (k) 19EIEIMH5H

m JIFvy RC2 7% 3mL ‘ [®1g] w5 ‘ [BERE] - | 4 (K) 14000 B
[AE4£] 17 :400,000  ~ 23%&:9,000”  33&:48,000” 437 :32,000H . 5 7&:24,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S P = 4 5 | BTR— 1:33.2 5-5-5-3 [39.5| — 3 542 | FHAEE (FEH)
1|11 | Y= bETq 56.0 =) ) @) Sz hLT AR5 T
R:A=JXM 2214 B:v/M3xY—~N 17 3435
< NN 12 mfEA :33. —8-2- . — Arhfe (EH
2|55 |/ NMLTLHELR s 54.0 1(13/32)3 oot %98 ? ?_932) EJII?)EHE
R:T7HIHRLTX BALYT RISy HE &
. = WBRBE :33. ~10-8- . — FHEZ (FEkR)
3 6|1 V71T7TTvx— IR (13313/2% 1071064 1 39.8 10 ;ﬁ; LB
x4 xNIT BNCTF)—4 NEFRE B
3 A R f 7 | ENEE 1:33.9 1-1-1-1 | 40.6 | — 1 481 | FFHEE (ER)
4 7 A PP SYRVE N 54.0 (5 E) (-5) ) 1—JLy b
LY IRG4 G52 B:T7TIVSIA b ZHIT7—L
g 6 | THEE 1:34.1 4-4-6-5 |40.5| — 4 455 | BAE— ()
51811 /IR —7 54.0 (3/4) (-2) FHEEE
L2917 AL b B:O-XbyTTq— MBS
5 | BBEHT 1:35.1 11-11-10-10{ 40.8 | — 6 4 =M ()
6|7|8|77T7%V—F " 6.0 ®) (929) ) 20—/ =T —1)—7
LTFTaTF1 571429 B:ITY # BE
.= RO EBERAR :35. ~6-7- . — KR ()
. NEIC PR it 5 ] 1(13/52>2 6-6-7-7 | 41.4 7 <4+430) iy
R:F1—T2h4 B:¥<v—tLF—F H—L— - TvIS> « T7— LERSE
o~ REFR : -3-4- — aAkYS (EM)
glglio| ¥ &r7ROY o4 e 1.(315).4 3-3-4-7 | 41.9 5 ::3:) Elaa%ﬂzig
L:dr—3YF7> B:VLAL =KH Bz
“ . . K B ABR :35. ~7-9- . — VS ()
9 4| VA TIINLR 3 x5 1(335)9 7-7-9-9 | 41.9 8 :1:532) :J:%if
LT TRy b BiT7ATCrA-H— Js =E
o9 on 1 AAFE :36. -9-11- . — RARK (BR)
10 o| Vw4 —F2 i 6 e (1133?/42) 9-9-11-11 | 42.1 i (4:3;) i e
L7 R214YTvN> B:OXENSFD EviLyRTr7—L
LS i o7 | MEREF 1:36.7 2-2-3-6 | 43.3| — 9 427 | BIETIER (EH)
1lz|lg|FFTET > — 54.0 ®) (t6) | 1) F—WHFNZ AL
LT RIAYTY IR BHFAU—ETS— EvilLy RTr—L
® I —F—@EBIERL
1d—7+— 7,9,10,11,1,3,4,5,2,6,8
20—F— 7,9,10,11,1,3,4,5,2,6,8
30—7+— 7,5,9,10,1,11,3,6,4,8,2
40—+ — (5,7),1,6,11,9, (3,10) ,4,8,2
[ N3
B OB 1 380H 714K 1-5 260M % E 1-5 590M 3EHE 1-5-6 12,920
8 B 1 1609 1-6 3,890MH B & 1= 530M K31 1-5-6 52,000/
5 120/ 5-6 3,350 B H 1-5 1,070/
6 1,920

ABICOVWTRDTEEERROODE. TR LIV,



